Ratio to CMS

1000/0 2do)/d(m_1 + m_2) [1/GeV]

e I
o O QO
N w N

=
o

=
<
[N

|
<
N

|
<
w

[EEY

0.5

7000 GeV pp Jets
= DL L L L L L L L L D L L L L =
';F | | | E%
L Filtered Jet Mass(anti-kT(0.7), 2300<p <450, |y|<2.5) 1z
= 3=
[ —©
= _=Lr)-
_ =l
- e
=3 =
= =[]
B o
E ==
= 3
= =k
— —™
- <
= H M
_ =P
[ — 0
L 1™
= ERa
= ==
[ m CMS i ke
= | m ==
= --f4-- Herwig 7.2.0 default @ o
L —a— Pythia 8.183 default 2
= ¢ Sherpa 2.2.0 default =3
_ i
= =jks
= 945
— - O
e e ey —E =
- “ =2
______ — 1
- \\\‘ /,, : |
— : —]
| —0.5
| " 1 " | 1 1 " 1
0 150

(m_1+m_2)/2[GeV]



	Contents
	Page 1


